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i. ;g iz”u i= ik¡p [k.Mksa esa foHkkftr gS& [k.M d] [k.M [k] [k.M x] [k.M ?k ,oa [k.M M- A bl iz”u 
i= esa dqy 13 iz”u gSaA 

ii. lHkh iz”u vfuok;Z gSa] ;|fi dqN iz”uksa esa vkarfjd p;u miyC/k gSA muesa esa ls fdlh ,d iz”u dks gh 
djasA 

iii. iz”uksa ds  lkeus muds fu/kkZfjr vad fy[ks gq, gSaA 
iv. [k.M d ¼iz”u la[;k 1 ls 5 rd½ esa 2 vad okys vfr y?kq mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 40 “kCnksa 

ls vf/kd ugha gksus pkfg,A 
v. [k.M [k ¼iz”u la[;k 6 ls 8½ esa] 3 vad okys vfr y?kq mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 80 “kCnksa ls 

vf/kd ugha gksus pkfg,A 
vi. [k.M x ¼iz”u la[;k 9 ,oa 10½ esa] 5 vad okys vfr nh?kZ mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 120 “kCnksa 

ls vf/kd ugha gksus pkfg,A 
vii. [k.M ?k ¼iz”u la[;k 11 ,oa 12½ esa] lzksr vk/kkfjr iz”u gSaA  

viii. [k.M M- ¼iz”u la[;k 13½ esa ,d ekufp= vk/kkfjr iz”u ¼3 vadksa dk½ gSA blds nks Hkkx&13.1 bfrgkl ¼1 
vad½ vkSj 13.2 Hkwxksy ¼2 vad½ gSaA 

ix. ekufp= vk/kkfjr iz”u la[;k 13 ds LFkku ij n`f’Vckf/kr fo|kfFkZ;ksa ds fy, vyx ls Ikz”u fn, x, gaSA  
General Instructions: 
i. The question paper is divided into five sections- Section A, Section B, Section C ,Section D and Section 

E. The question paper has 13 questions in all. 
ii. All questions are compulsory, however internal choices are given in some questions. Attempt any one of 

them. 
iii. Marks are indicated against each question. 
iv. Section A: Questions from serial number 1 to 5 are very short answer type questions of 2 marks each. 

Answer of these questions should not exceed 40 words each. 
v. Section B: Questions from serial number 6 to 8 are short answer type questions of 3 marks each. Answer 

of these questions should not exceed 80 words each. 
vi. Section C: Questions from serial number 9 and 10 are long answer type questions of 5 marks each. 

Answer of these questions should not exceed 120 words each. 
vii. Questions from serial number 11 and 12 are source based question, carrying of 4 marks each.  

viii. Question number 13 is a map based question of 3 marks with two parts-13.1 from history (1 mark) and 
13.2 from Geography (2 marks) 

ix. Separate questions are given for visually impaired student only in lieu of map based question no.13. 
 



 

 [k.M d 
Section A 

2X5=10 

1 Lkfou; voKk vkanksyu esa efgykvksa dh Hkwfedk dk mYYks[k dhft,A  
Mention the role of women in the Civil Disobedience movement. 

2 

2 ^jlk;u m|ksx ds egRo dh foospuk dhft,A 

 Analyze the importance of Chemical Industries. 

2 

3 Hkkjr esa jktuhfrd nyksa esa lq/kkj gsrw dksbZ nks mik; crkb,A 
Suggest any two measures of reform in the political Parties in India. 

2 

4 feyku dhft,% 

 LRkaHk d  LRkaHk [k 

1 cSad }kjk fn;k x;k _.k A vukSipkfjd lzksr 

2 oLrq ds cnys OkLrq dk ysu & nsu B vkSipkfjd lzksr 

  C oLrq fofue; 

Match the following: 

 Column A  Column B 
1 Loan provided by the Bank A Informal Source 
2 Exchange of Goods B Formal Source 
  C Barter System 

 

2 

5 lhekar lM+dksa dk egRo fyf[k,A 
Write the importance of Border roads. 

2 

 [k.M [k 
Section B 

3X3=9 

6 oS”ohdj.k ds Hkkjrh; vFkZO;oLFkk ij iM+us okys ldkjkRed izHkkoksa dh mnkgj.k lfgr 
O;k[;k dhft,A 

vFkok 

oS”ohdj.k dks vius “kCnksa esa ifjHkkf’kr dhft,A 

Explain the positive impacts of Globalisation on Indian economy with example. 
OR 

Define the term Globalisation in your own words. 
  

3 

7 ^Hkkjr esa fczfV”k lkezkT; Hkkjrh;ksa ds lg;ksx ls gh LFkkfir gqvk Fkk vkSj ;g “kklu 

blh lg;ksx ds dkj.k py Ikk jgk gSA vxj Hkkjr ds yksx viuk lg;ksx okil ys ysa 

3 



rks fczfV”k “kklu <+g tk,xkA^ bl dFku ds vkyksd esa vlg;ksx vkanksyu ds dkj.kksa 

dk fo”ys’k.k dhft,A 

‘British rule was established in India with the cooperation of Indians, and 

had survived only because of this cooperation, If Indians refused to 

cooperate, British rule in India would collapse.’ Analyze the causes of the 

Non - Cooperation Movement with reference to this statement. 

8 ^yksdra= vkfFkZd vlekurkvksa dks de djus esa lQy ugha jgk gSA^ D;k vki bl 
dFku ls lger gSa\ U;k;ksfpr Bgjkb,A   
‘Democracy has not been able to reduce economic inequalities.’ Do you 

agree with this statement? Justify. 

3 

 [k.M x  
Section C 

5X2=10 

9 ^jktuhfrd nyksa dk mn; izfrfuf/kRo ij vk/kkfjr yksdrkaf=d O;oLFkk ds mHkkj ds 

lkFk tqM+k gSA^ D;k vki lger gSa\ vius mÙkj ds leFkZu esa rdZ nhft,A  

vFkok 

^orZeku esa jktuhfrd nyksa ds le{k pqukSfr;ksa dh O;k[;k dhft,A 

The rise of political parties is directly linked to the emergence of 

representative democracies. Do you agree? Give arguments in support of 

your answer. 

OR 

What are the challenges being faced by Political parties nowadays? 

5 

10 ^cSadksa ,oa lgdkjh lfefr;ksa dks Hkkjr ds xzkeh.k {ks=ksa esa lk[k dh xfrfof/k;ksa dks c<+kus 
dh vko”;drk gS^A mfpr rdkZsa ds lkFk dFku dh O;k[;k dhft,A   
   

vFkok 
Hkkjr dh vf/kdka'k turk vHkh Hkh _.k ds fy, vukSipkfjd lzksrksa ij gh D;ksa fuHkZj 
gSa\  
Banks and co-operative societies need to increase their lending in rural 
areas. Explain this statement with appropriate arguments. 

OR 
Why are most of the people in India still dependent on informal sector of 
credit for loan? 

 

5 

 [k.M ?k 
Section D 

4X2=8 



11 uhps fn, x, vuqPNsn dks if<+, ,oa iwNs x, iz”uksa ds mÙkj nhft,A 

'1928 मŐ जब साइमन कमीशन भारत पŠंचा तो उसका ˢागत ‘साइमन वापस जाओ’ के नारे से िकया 

गया। कांŤेस और मुİˠम लीग lesr सभी पािटŊयो ंने ŮदशŊनो ंमŐ िहˣा िलया। इस िवरोध को शांत 

करने के िलए वायसराय लॉडŊ इरिवन ने अƃूबर 1929 मŐ भारत के िलए ‘डोिमिनयन ːेटस’ का 

गोलमोल सा ऐलान कर िदया। उɎोनें इस बारे मŐ कोई समय सीमा भी नही ंबताई। उɎोनें िसफŊ  इतना 

कहा िक भावी संिवधान के बारे मŐ चचाŊ करने के िलए गोलमेज सʃेलन आयोिजत िकया जाएगा। इस 

Ůˑाव से कांŤेस के नेता संतुʼ नही ंFksA जवाहरलाल नेहŝ और सुभाष चंū बोस के नेतृȕ मŐ कांŤेस 

का तेज-तराŊर खेमा आŢमक तेवर अपनाने लगा था। उदारवादी और मȯममागŎ नेता िŰिटश 

डोिमिनयन के भीतर ही संवैधािनक ʩव̾था के पƗ मŐ थे। लेिकन इस खेमे का Ůभाव घटता जा रहा 

था। िदसंबर 1929 मŐ जवाहर लाल नेहŝ की अȯƗता मŐ कांŤेस के लाहौर अिधवेशन मŐ ‘पूणŊ ˢराज’ 

की मांग को औपचाįरक ŝप से मान िलया गया। तय िकया गया िक 26 जनवरी 1930 को ˢतंũता 

िदवस के Ŝप मŐ मनाया जाएगा और उस िदन लोग पूणŊ ˢराज के िलए संघषŊ की शपथ लŐगे। इस 

उȖव की ओर बŠत कम ही लोगो ंने ȯान िदया। अब ˢतंũता के इस अमूतŊ िवचार को रोजमराŊ की 

िजंदगी के ठोस मुȞो ंसे जोड़ने के िलए महाȏा गांधी को कोई और राˑा ढंूढना था।' 

 

11-1 Mksfefu;u LVsVl D;k Fkk\  1 
11-2 xksyest lEesyu D;ksa vk;ksftr fd;k x;k\ 1 
11-3 1929 esa dkaxzsl ds ykgkSj eas gq, vf/kos”ku dk egROk crkb,A 2 
 Read the source and Answer the following questions. 

‘When the Simon Commission arrived in India in 1928, it was greeted with the slogan 

‘Go back Simon’. All parties, including the Congress and the Muslim League, 

participated in the demonstrations. In an effort to win them over, the viceroy, Lord 

Irwin, announced in October 1929, a vague offer of ‘dominion status’ for India in an 

unspecified future, and a Round Table Conference to discuss a future constitution. 

This did not satisfy the Congress leaders. The radicals within the Congress, led by 

Jawaharlal Nehru and Subhas Chandra Bose, became more assertive. The liberals and 

moderates, who were proposing a constitutional system within the framework of 

British dominion, gradually lost their influence. In December 1929, under the 

presidency of Jawaharlal Nehru, the Lahore Congress formalised the demand of 

‘Purna Swaraj’ or full independence for India. It was declared that 26 January 1930, 

would be celebrated as the Independence Day when people were to take a pledge to 

struggle for complete independence. But the celebrations attracted very little attention. 

 



So Mahatma Gandhi had to find a way to relate this abstract idea of freedom to more 

concrete issues of everyday life.’ 

11-1 What was Dominion Status? 1 

11-2 Why was Round Table Conference organised? 1 

11-3 Explain the importance of Lahore Congress session organised in 1929. 2 

12 uhps fn, x, vuqPNsn dks if<+, ,oa iwNs x, iz”uksa ds mÙkj nhft,A 

'भारत की 7516.6 िकलोमीटर लंबी समुūी तट रेखा के साथ 12 Ůमुख तथा 200 मȯम वगŊ छोटे पȅन gSa । यह 

Ůमुख पतन देश का 95% िवदेशी ʩापार संचािलत करते हœ। ˢतंũता Ůाİɑ के बाद कǅ मŐ कांडला पȅन 

पहले पȅन के ŝप मŐ िवकिसत िकया गया। ऐसा देश िवभाजन से कराची पȅन की कमी को पूरा करने तथा 

मंुबई से होने वाले ʩापाįरक दबाव को कम करने के िलए था। कांडला िजसे दीनदयाल पȅन के नाम से भी 

जाना जाता है, एक ǜारीय पȅन है। यह जʃू कʳीर, िहमाचल Ůदेश, पंजाब, हįरयाणा, राज̾थान व गुजरात 

के औȨोिगक तथा खाȨाɄो ंकी आयात-िनयाŊत को संचािलत करता है। मंुबई वृहद पȅन है िजसके Ůाकृितक 

खुले िवˑृत व सुचाŝ पोताŵय हœ। मंुबई पȅन की अिधक पįरवहन को ȯान मŐ रखकर इसके सामने 

जवाहरलाल नेहŝ पȅन िवकिसत िकया गया जो इस पूरे Ɨेũ को एक समूह पȅन की सुिवधा भी Ůदान कर 

सके।' 

 

12-1 dkaMyk iÙku dks D;kas fodflr fd;k x;k\ 1 
12-2 tokgj yky usg: iÙku dks D;kas fodflr fd;k x;k\ 1 

12-3 iÙku ns”k ds fodkl esa fdl izdkj ;ksxnku nsrs gSa\ 2 

 Read the extracts and Answer the following questions. 

‘With a long coastline of 7,516.6 km, India is dotted with 12 major and 200, notified 

non majors (minor/intermediate) ports. These major ports handle 95 per cent of 

India’s foreign trade. Kandla in Kuchchh was the first port developed soon after 

Independence to ease the volume of trade on the Mumbai port, in the wake of loss of 

Karachi port to Pakistan after the Partition. Kandla is a tidal port. It caters to the 

convenient handling of exports and imports of highly productive granary and 

industrial belt stretching across the states of Jammu and Kashmir, Himachal Pradesh, 

Punjab, Haryana, Rajasthan and Gujarat. Mumbai is the biggest port with a spacious 

natural and well-sheltered harbour. The Jawaharlal Nehru port was planned with a 

view to decongest the Mumbai port and serve as a hub port for this region’. 

 

 

12-1 Why was Kandla port developed? 1 
12-2 Why was Jawahar Lal Nehru port developed? 1 
12-3 How are ports important for the development of a country? 2 



 
 [k.M M- 

Section E 

1X3=03 

13-1 Hkkjr  ds jktuhfrd ekufp= esa fcUnq A ls ,d LFkku vafdr fd;k x;k gSA bl fcUnq 

dks fuEufyf[kr tkudkjh dh lgk;rk ls igpkfu, vkSj mldk lgh uke ekufp= ij 

[khpha x;h js[kk ij fyf[k,A   

A. og LFkku tgk¡ egkRek xk¡/kh us d`’kd lR;kxzg vkjaHk fd;kA 

On the given outline political map of India, identify the place marked as A with the help of 

following information and write its correct name on the line marked near it. 

A. The place where Mahatma Gandhi started Peasant Satyagraha. 

 

1 

13-2 Hkkjr ds mlh jktuhfrd js[kk ekufp= esa fuEUkfyf[kr dks mi;qDr fpUgksa ls n”kkZb, 
vkSj uke fyf[k,&  

A. dksPph iÙku 

vFkok 

usrkth lqHkk’k panz cksl varjkZ’Vªh; gokbZ iÙku 

B. dyiDde vkf.od la;a=  

Locate and label the following with appropriate symbols on the same outline political map of 
India.  
 

A. Kochi Port 

OR 

Netaji Subhash Chandra Bose International Airport 

B. Kalpakkam Nuclear Plant 

fuEufyf[kr iz”u] iz”u la[;k 13-1 ds LFkku ij dsoy nf̀’Vckf/kr fo|kfFkZ;ksa ds fy, 

gSA 

A. ml LFkku dk uke fyf[k, tgk¡ egkRek xk¡/kh us d`’kd lR;kxzg vkjaHk fd;kA 

Following questions are only for visually impaired students in lieu of question 

number 13.1.  

2 



A. Name the place where Mahatma Gandhi started Peasant Satyagraha. 

 

fuEufyf[kr iz”u] iz”u la[;k 13-2 ds LFkku ij dsoy nf̀’Vckf/kr fo|kfFkZ;ksa ds fy, 

gSA¼dksbZ nks dhft,½ 

i. ml jkT; dk uke fyf[k, tgk¡ dyiDde vkf.od la;a= fLFkr gSA 

ii. ml jkT; dk uke fyf[k, tgk¡ usrkth lqHkk’k panz cksl varjkZ’Vªh; gokbZ 

iÙku fLFkr gSA 

iii. ml jkT; dk uke fyf[k, tgk¡ dksPph iÙku fLFkr gSA 

Following questions are only for visually impaired students in lieu of question 
number 13.2. (Attempt any Two) 

i. Name the state where Kalpakkam Nuclear Plant is located.  

ii. Name the state where Netaji Subhash Chandra Bose International 

Airport is located. 

iii. Name the state where Kochi Port is located. 

 


